HEBHERR—YVDEZF Y KERNFERERD

THR2948A11H
KR R B
6% & 5 FEERK-50ke
N E& R murr
1 EB BT BEREEsST i 2 1 42 =
2EE —  WEELFE BhiEg KA 43 — 419
J@Em En SMEmES FERRF 37
42 Bl ERHREER FRE 47 y= 487
5HME BB WO EER 48 4-64
6 fOm # NFESTE FIRLIR 35 =
TEL 8 TLAH—REEI5T KRR 40 ym
84 % FHEEES KIRAF 36 yas
9FII BE SEFES ENIR 43 — | 4-80
0% EH ENEREY ST REER 42
& E I GESET EER 27 —
128 ED BIBDYS5T KBS KKK 34 4-66
13 &8 I5H ERRER FHME 42
14 EA #iE SENEROERERES KEHF o 1o
15 #IR M WFOSREHSST 0 0 RER 37 — 481
16 Beh #zf RBEREE gl 47
7% #Xx KA REER ZRE 46 — 4-88
18 E AMRLREMEES ST ARLUR 45 =
19 %8 #HE  WOESARZEARS WER 37
20 HA B TREERE RER 44 =
2 FE R S R P
2 WA Bk AKRSERESST BER 46 — 48
BeA BB RERELKE FIRILR 48
24 iR BB HIHAUST KMES AR 45 —
% i mE  HBEELES ER py p—
%6 EA HE C"ROFREIST EER 47
27 it RKE  #FELERENRYST KRR 40 —
B RA #BE  HTHAY5T KEES KR 35 — -8
29 WE BB PREZELER R % ‘
0 R ME  EXES FFRILE 47 — 4-89
3 i BE  EEZES AR 1 w7
2 EE K AAIOLEREHE AR 36 —
BME HE  MENERHS RER 36 =
® At &= RRREHE FIRRILIR 47 —
3BIL0 #x = KESEREHE BER 37 = 4-84
36 shL HEARS FHRERE =E8 36
3 AE E SENIRRERE KRR 36 —
38 B RE  LAREEKE EFR 30 414
39 HE WA EMEES REBAF 49
INEF - KEDERELE EER 42 —
NEIE BREESES KIRAF CJ— [
0 EE KT RRETOERERE  RIR 7 ‘
B ER BE  EEAZSEOEREEES AR 38 — 4-90
RO AE  BRLAEESST ik 21 42 416
45 0E HE  EERESST EER 47
46T 512 EREE I 2 1 46 ya,
47 4l BE  $HERESST EER 43 4
48 KR HEE RERLE REBAT 46 = 4-86
9 EH EA  RERERE MPUR 4 ‘
50 BB P8 SHREERS KERAT 36 _—
51 FA Bk ANSEOREER zHE 36 4-18
52 4 @ WREES BHIR 42




